Engineers Estimate \$770,000 July 2, 2013

GEORGE REED, INC. - MODESTO, CA

	GEORGE REED, 114C WODESTO, CA						
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST		
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$50,000.00	\$50,000.00		
2	CLEARING & GRUBBING	1	LS	\$56,000.00	\$56,000.00		
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$39,325.00	\$39,325.00		
4	ROADWAY EXCAVATION	1	LS	\$30,000.00	\$30,000.00		
5	EROSION CONTROL / SWPPP IMPLEMENTATION	1	LS	\$20,050.00	\$20,050.00		
6	CURB INLET (TYPE 'GO')	4	EA	\$3,375.00	\$13,500.00		
7	12" STORM DRAIN	258	LF	\$86.00	\$22,188.00		
8	RELOCATE 8" WATERLINE	1	LS	\$5,150.00	\$5,150.00		
9	36" CL IV RGRCP (SSJID)	657	LF	\$140.00	\$91,980.00		
10	MANHOLE SSJID STD 3.03	1	EA	\$5,365.00	\$5,365.00		
11	CONCRETE FIELD COLLAR (SSJID)	2	EA	\$3,219.00	\$6,438.00		
	RELOCATE EXISTING SSJID AIR VENT	1	EA	\$4,830.00	\$4,830.00		
	CONCRETE PIPE PLUG (SSJID)	2	EA	\$8,000.00	\$16,000.00		
	AGGREGATE BASE (CLASS II)	1,277	CY	\$52.00	\$66,404.00		
	HOT MIX ASPHALT (TYPE A) 3/4"	1,042	TON	\$81.00	\$84,402.00		
16	HOT MIX ASPHALT (TYPE A) 1/2"	833	TON	\$83.00	\$69,139.00		
17	ADJUST EXISTING VALVE BOXES AND SURVEY MONUMENTS TO GRADE	4	EA	\$775.00	\$3,100.00		
	ADJUST EXISTING MANHOLES TO GRADE	11	EA	\$775.00	\$8,525.00		
19	STAMPED CONCRETE MEDIAN ISLAND	851	SF	\$11.00	\$9,361.00		
	WHEELCHAIR RAMP	1	EA	\$2,450.00	\$2,450.00		
	6" VERTICAL CURB & GUTTER	1,300	LF	\$18.00	\$23,400.00		
22	8" VERTICAL MEDIAN CURB	657	LF	\$24.00	\$15,768.00		
23	4" SIDEWALK	12,503	SF	\$4.25	\$53,137.75		
24	STANDARD DRIVEWAY (Labor Only)	8	EA	\$850.00	\$6,800.00		
	MODIFIED DRIVEWAY (Labor Only)	8	EA	\$850.00	\$6,800.00		
	STRIPING & SIGNAGE	1	LS	\$13,500.00	\$13,500.00		
	DETAIL 22 (Northgate Dr. not shown on plans)	2,350	LF	\$1.15	\$2,702.50		
28	TRAFFIC LOOPS	13	EA	\$575.00	\$7,475.00		
29	100 WATT SINGLE ARM COBRAHEAD INDUCTION ELECTROLIER	5	EA	\$6,000.00	\$30,000.00		
TOTA	L BASE BID	\$763,790.25					

Engineers Estimate \$770,000 July 2, 2013

DSS COMPANY DBA KNIFE RIVER CONSTRUCTION - STOCKTON, CA

D33 COMPANT DBA KNIFE RIVER CONSTRUCTION - STUCKTON, CA					
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
	MOBILIZATION / DEMOBILIZATION	1	LS	\$46,000.00	\$46,000.00
2	CLEARING & GRUBBING	1	LS	\$25,000.00	\$25,000.00
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$30,000.00	\$30,000.00
4	ROADWAY EXCAVATION	1	LS	\$110,000.00	\$110,000.00
5	EROSION CONTROL / SWPPP IMPLEMENTATION	1	LS	\$20,000.00	\$20,000.00
6	CURB INLET (TYPE 'GO')	4	EA	\$2,500.00	\$10,000.00
7	12" STORM DRAIN	258	LF	\$97.00	\$25,026.00
8	RELOCATE 8" WATERLINE	1	LS	\$7,000.00	\$7,000.00
9	36" CL IV RGRCP (SSJID)	657	LF	\$99.00	\$65,043.00
10	MANHOLE SSJID STD 3.03	1	EA	\$5,300.00	\$5,300.00
11	CONCRETE FIELD COLLAR (SSJID)	2	EA	\$1,500.00	\$3,000.00
12	RELOCATE EXISTING SSJID AIR VENT	1	EA	\$2,500.00	\$2,500.00
13	CONCRETE PIPE PLUG (SSJID)	2	EA	\$1,500.00	\$3,000.00
14	AGGREGATE BASE (CLASS II)	1,277	CY	\$58.00	\$74,066.00
15	HOT MIX ASPHALT (TYPE A) 3/4"	1,042	TON	\$76.00	\$79,192.00
16	HOT MIX ASPHALT (TYPE A) 1/2"	833	TON	\$76.20	\$63,474.60
	ADJUST EXISTING VALVE BOXES AND SURVEY	4	EA	\$560.00	\$2,240.00
18	ADJUST EXISTING MANHOLES TO GRADE	11	EA	\$750.00	\$8,250.00
19	STAMPED CONCRETE MEDIAN ISLAND	851	SF	\$11.50	\$9,786.50
20	WHEELCHAIR RAMP	1	EA	\$6,700.00	\$6,700.00
21	6" VERTICAL CURB & GUTTER	1,300	LF	\$24.00	\$31,200.00
22	8" VERTICAL MEDIAN CURB	657	LF	\$19.00	\$12,483.00
23	4" SIDEWALK	12,503	SF	\$4.10	\$51,262.30
24	STANDARD DRIVEWAY (Labor Only)	8	EA	\$1,200.00	\$9,600.00
25	MODIFIED DRIVEWAY (Labor Only)	8	EA	\$1,800.00	\$14,400.00
	STRIPING & SIGNAGE	1	LS	\$11,700.00	\$11,700.00
27	DETAIL 22 (Northgate Dr. not shown on plans)	2,350	LF	\$1.00	\$2,350.00
	TRAFFIC LOOPS	13	EA	\$785.00	\$10,205.00
29	100 WATT SINGLE ARM COBRAHEAD INDUCTION ELECTROLIER	5	EA	\$5,610.00	\$28,050.00
TOTAL BASE BID					\$766,828.40

Engineers Estimate \$770,000 July 2, 2013

RODGERS CONSTRUCTION & ENGINEERING, INC. - STOCKTON, CA

ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$10,000.00	\$10,000.00
2	CLEARING & GRUBBING	1	LS	\$20,169.00	\$20,169.00
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$30,000.00	\$30,000.00
4	ROADWAY EXCAVATION	1	LS	\$77,360.00	\$77,360.00
5	EROSION CONTROL / SWPPP IMPLEMENTATION	1	LS	\$10,000.00	\$10,000.00
6	CURB INLET (TYPE 'GO')	4	EA	\$3,590.00	\$14,360.00
7	12" STORM DRAIN	258	LF	\$100.00	\$25,800.00
8	RELOCATE 8" WATERLINE	1	LS	\$8,368.00	\$8,368.00
9	36" CL IV RGRCP (SSJID)	657	LF	\$137.00	\$90,009.00
10	MANHOLE SSJID STD 3.03	1	EA	\$4,307.00	\$4,307.00
	CONCRETE FIELD COLLAR (SSJID)	2	EA	\$2,242.00	\$4,484.00
	RELOCATE EXISTING SSJID AIR VENT	1	EA	\$3,743.00	\$3,743.00
	CONCRETE PIPE PLUG (SSJID)	2	EA	\$1,773.00	\$3,546.00
	AGGREGATE BASE (CLASS II)	1,277	CY	\$55.00	\$70,235.00
15	HOT MIX ASPHALT (TYPE A) 3/4"	1,042	TON	\$87.00	\$90,654.00
16	HOT MIX ASPHALT (TYPE A) 1/2"	833	TON	\$90.00	\$74,970.00
17	ADJUST EXISTING VALVE BOXES AND SURVEY MONUMENTS TO GRADE	4	EA	\$600.00	\$2,400.00
18	ADJUST EXISTING MANHOLES TO GRADE	11	EA	\$1,100.00	\$12,100.00
19	STAMPED CONCRETE MEDIAN ISLAND	851	SF	\$14.50	\$12,339.50
20	WHEELCHAIR RAMP	1	EA	\$5,000.00	\$5,000.00
21	6" VERTICAL CURB & GUTTER	1,300	LF	\$32.00	\$41,600.00
22	8" VERTICAL MEDIAN CURB	657	LF	\$30.50	\$20,038.50
23	4" SIDEWALK	12,503	SF	\$4.65	\$58,138.95
	STANDARD DRIVEWAY (Labor Only)	8	EA	\$1,450.00	\$11,600.00
	MODIFIED DRIVEWAY (Labor Only)	8	EA	\$1,465.00	\$11,720.00
26	STRIPING & SIGNAGE	1	LS	\$13,658.00	\$13,658.00
27	DETAIL 22 (Northgate Dr. not shown on plans)	2,350	LF	\$2.00	\$4,700.00
28	TRAFFIC LOOPS	13	EA	\$900.00	\$11,700.00
29	100 WATT SINGLE ARM COBRAHEAD INDUCTION ELECTROLIER	5	EA	\$7,000.00	\$35,000.00
TOTA	TOTAL BASE BID				

Engineers Estimate \$770,000 July 2, 2013

MCI ENGINEERING, INC. - STOCKTON, CA

	MICI ENGINEERING, INC STOCKTON, CA						
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST		
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$42,970.00	\$42,970.00		
2	CLEARING & GRUBBING	1	LS	\$9,365.00	\$9,365.00		
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$52,295.00	\$52,295.00		
4	ROADWAY EXCAVATION	1	LS	\$121,355.00	\$121,355.00		
5	EROSION CONTROL / SWPPP IMPLEMENTATION	1	LS	\$11,562.00	\$11,562.00		
	CURB INLET (TYPE 'GO')	4	EA	\$3,814.00	\$15,256.00		
	12" STORM DRAIN	258	LF	\$106.00	\$27,348.00		
	RELOCATE 8" WATERLINE	1	LS	\$8,890.00	\$8,890.00		
9	36" CL IV RGRCP (SSJID)	657	LF	\$146.00	\$95,922.00		
10	MANHOLE SSJID STD 3.03	1	EA	\$4,580.00	\$4,580.00		
11	CONCRETE FIELD COLLAR (SSJID)	2	EA	\$2,382.00	\$4,764.00		
12	RELOCATE EXISTING SSJID AIR VENT	1	EA	\$3,976.00	\$3,976.00		
	CONCRETE PIPE PLUG (SSJID)	2	EA	\$1,884.00	\$3,768.00		
14	AGGREGATE BASE (CLASS II)	1,277	CY	\$70.00	\$89,390.00		
	HOT MIX ASPHALT (TYPE A) 3/4"	1,042	TON	\$104.50	\$108,889.00		
16	HOT MIX ASPHALT (TYPE A) 1/2"	833	TON	\$97.00	\$80,801.00		
17	ADJUST EXISTING VALVE BOXES AND SURVEY MONUMENTS TO GRADE	4	EA	\$308.00	\$1,232.00		
18	ADJUST EXISTING MANHOLES TO GRADE	11	EA	\$437.00	\$4,807.00		
19	STAMPED CONCRETE MEDIAN ISLAND	851	SF	\$16.00	\$13,616.00		
20	WHEELCHAIR RAMP	1	EA	\$3,592.00	\$3,592.00		
21	6" VERTICAL CURB & GUTTER	1,300	LF	\$23.74	\$30,862.00		
22	8" VERTICAL MEDIAN CURB	657	LF	\$25.00	\$16,425.00		
23	4" SIDEWALK	12,503	SF	\$5.50	\$68,766.50		
24	STANDARD DRIVEWAY (Labor Only)	8	EA	\$1,736.00	\$13,888.00		
25	MODIFIED DRIVEWAY (Labor Only)	8	EA	\$1,750.00	\$14,000.00		
26	STRIPING & SIGNAGE	1	LS	\$11,658.00	\$11,658.00		
27	DETAIL 22 (Northgate Dr. not shown on plans)	2,350	LF	\$2.20	\$5,170.00		
	TRAFFIC LOOPS	13	EA	\$550.00	\$7,150.00		
29	100 WATT SINGLE ARM COBRAHEAD INDUCTION ELECTROLIER	5	EA	\$5,700.00	\$28,500.00		
TOTAL BASE BID					\$900,797.50		

Engineers Estimate \$770,000 July 2, 2013

CHESTER BROSS CONSTRUCTION CO. - VALLEY SPRINGS, CA

	CHESTER BROSS CONSTRUCTION CO VALLET SPRINGS, CA						
ITEM NO.	ITEM DESCRIPTION	BID QTY	UNIT	UNIT COST	TOTAL COST		
1	MOBILIZATION / DEMOBILIZATION	1	LS	\$117,000.00	\$117,000.00		
2	CLEARING & GRUBBING	1	LS	\$80,000.00	\$80,000.00		
3	TRAFFIC CONTROL & CONSTRUCTION SIGNAGE	1	LS	\$75,000.00	\$75,000.00		
4	ROADWAY EXCAVATION	1	LS	\$118,000.00	\$118,000.00		
5	EROSION CONTROL / SWPPP IMPLEMENTATION	1	LS	\$45,000.00	\$45,000.00		
6	CURB INLET (TYPE 'GO')	4	EA	\$3,000.00	\$12,000.00		
7	12" STORM DRAIN	258	LF	\$80.00	\$20,640.00		
8	RELOCATE 8" WATERLINE	1	LS	\$4,800.00	\$4,800.00		
9	36" CL IV RGRCP (SSJID)	657	LF	\$130.00	\$85,410.00		
10	MANHOLE SSJID STD 3.03	1	EA	\$5,000.00	\$5,000.00		
11	CONCRETE FIELD COLLAR (SSJID)	2	EA	\$3,000.00	\$6,000.00		
12	RELOCATE EXISTING SSJID AIR VENT	1	EA	\$4,500.00	\$4,500.00		
13	CONCRETE PIPE PLUG (SSJID)	2	EA	\$7,500.00	\$15,000.00		
14	AGGREGATE BASE (CLASS II)	1,277	CY	\$50.00	\$63,850.00		
15	HOT MIX ASPHALT (TYPE A) 3/4"	1,042	TON	\$70.00	\$72,940.00		
16	HOT MIX ASPHALT (TYPE A) 1/2"	833	TON	\$83.00	\$69,139.00		
17	ADJUST EXISTING VALVE BOXES AND SURVEY MONUMENTS TO GRADE	4	EA	\$550.00	\$2,200.00		
18	ADJUST EXISTING MANHOLES TO GRADE	11	EA	\$640.00	\$7,040.00		
19	STAMPED CONCRETE MEDIAN ISLAND	851	SF	\$15.75	\$13,403.25		
20	WHEELCHAIR RAMP	1	EA	\$2,255.00	\$2,255.00		
21	6" VERTICAL CURB & GUTTER	1,300	LF	\$24.00	\$31,200.00		
22	8" VERTICAL MEDIAN CURB	657	LF	\$22.20	\$14,585.40		
23	4" SIDEWALK	12,503	SF	\$4.40	\$55,013.20		
24	STANDARD DRIVEWAY (Labor Only)	8	EA	\$1,785.00	\$14,280.00		
25	MODIFIED DRIVEWAY (Labor Only)	8	EA	\$2,190.00	\$17,520.00		
	STRIPING & SIGNAGE	1	LS	\$25,000.00	\$25,000.00		
	DETAIL 22 (Northgate Dr. not shown on plans)	2,350	LF	\$1.90	\$4,465.00		
28	TRAFFIC LOOPS	13	EA	\$785.00	\$10,205.00		
29	100 WATT SINGLE ARM COBRAHEAD INDUCTION ELECTROLIER	5	EA	\$5,608.00	\$28,040.00		
TOTAL BASE BID					\$1,019,485.85		